
Item ID Item Description Warranty
101928 Replacement Double Swivel Elbow Cuff (Black) NO
100694 Replacement Double Swivel Straight Cuff (PV FS 6) NO
103048 Static-Dissipating Hose w/Cuffs (Black) NO
100505 Static-Dissipating Hose w/Straight Cuffs (PV FS 6) NO
100694 Replacement Swivel Cuff (Black) 1 1/2" NO
833948 Purple Cap Lifetime

833948-1 Black Cap (PV FS 6) Lifetime
107313 Intercept Micro Filter (Super Coach Pro 10) NO
107314 Intercept Micro Filter (Super Coach Pro 6) NO
834000 Micro Cloth Filter (Super Coach Pro 10) NO
834072 Micro Cloth Filter (Super Coach Pro 6) NO
510179 Latch and Retainer w/Lock Nut & Screw 3 years
510180 Gasket for Tank (Super Coach Pro 10) 3 years
510181 Gasket for Tank (Super Coach Pro 6) 3 years
510183 Dome Filter w/Foam Media 3 years
510184 Foam Filter Media for Dome Filter NO
510193 Upper Motor Support w/Gasket 3 years
833951 Upper Motor Gasket 3 years
834036 Motor/Fan (120 V) 3 years
101720 Carbon Brush Set NO
833952 Lower Motor Gasket 3 years
510185 Cover Wire w/2 screws 3 years
510194 Lower Motor Support (5 screws) 3 years
834042 Triangular Lower Foam Pad 3 years
834043 Rectangular Upper Foam Pad 3 years

808380-0 Screw Pan CR #8 x 1/2" 3 years
510188 Housing Assembly Lower w/Screws Lifetime
107315 HEPA Filter (2-pack) NO
833954 Exhaust Filter Door 3 years

808380-22 Screw Pan CR #8 x 3/4" 3 years
834037 Switch Cord and Power Cord Assembly 3 years
106066 On/Off Switch NO
107043 Switch Box 3 years
834038 Pigtail Assembly 3 years
834165 Power Cord Assembly 3 years
510190 Upper Harness Assembly 3 years
834058 Shoulder & Sternum Strap Lefthand NO
834059 Shoulder & Sternum Strap Righthand NO
100358 Shoulder Strap Adjustment Buckle NO
510191 Sternum Strap Buckle (latch and keeper) NO
101737 Carry Handle w/Rivet Set 3 years
834049 Upper Pad Harness 3 years
834050 Pivoting Ball 3 years
834053 Outer Support Retainer 3 years
510192 Tensioning Straps NO
834055 Lower Harness Assembly 3 years
102604 Cord Holder NO
510301 Waist Belt Buckles and Strap Set NO
834051 Screw - 5/16" - 18x1 - 3/8" Lock Screw (2 screws) 3 years
510186 Harness Spacers 3 years
101678 50' Extension Cord NO

Super Coach Pro 6 &10 / ProVac FS 6 parts

03-10-16


